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General Instructions :
The question paper comprises of two sections, A and B. You are to attempt both the sections.
All questions are compulsory.

There is no overall choice. However, internal choice has been provided in all the three questions
of five marks category. Only one option in such question is to be attempted.

All questions of section A and all questions of section B are to be attempted separately.

Question numbers 1 to 4 in section A are one mark questions. These are to be answered in
one word or one sentence.

Question numbers 5 to 13 are two mark questions, to be answered in about 30 words.
Question numbers 14 to 22 are three mark questions, to be answered in about 50 words.
Question numbers 23 to 25 are five mark questions, to be answered in about 70 words.

Question numbers 26 to 41 in section B are multiple choice questions based on practical
skills. Each question is a one mark question. You are to choose one most appropriate response
out of the four provided to you.

An additional 15 minutes time has been allotted to read this question paper only. During
this interval you are not to write any thing on the answer book.
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SECTION - A

Define 1 Joule of work.

Identify the energy possessed by a rolling stone.

We are lucky that ozone is not stable near to the Earth’s surface. Why ? Give
appropriate answer.

How the biosphere is a dynamic and stable system ?

Name the body which approves the nomenclature of elements and compounds.
The symbol of sodium is written as Na and not as S. Give reason.

Name one element which form diatomic and one which form tetra atomic
molecules.

The composition of the nuclei of two atomic species X and Y is given as under :

X Y
Protons 6 6
Neutrons 6 8
Give the mass numbers of X and Y. What is the relationship between these two

species ?

What are the four main characteristics of chordates ?

(a)
(b)

Give one characteristic difference between primitive and advanced organisms.
Name the phylum to which the following are included.
(i) Spider (i) Cockroach (iii) Prawn (iv) Housefly

A cork floats in water, while the iron nail sinks. Give reason.

State Archimedes” Principle. Based on this principle, write its two applications.

(i)

Define the time period of a wave.
Give the relation among speed of sound v, wavelength N\ and its frequency v.

A sound wave travels at a speed of 339 ms~1. If its wavelength is 1.5 cm, what
is the frequency of the wave ?

Many Municipal Corporations are trying water harvesting to improve the
availability of water. Give reason.
Rain water sometimes contains traces of acid. Why ? Explain in brief.

Define the term * Smog/'.
Name two types of diseases caused by regularly breathing the polluted air.

State and explain the law of constant proportion taking an example of ammonia,
Write the symbol of an element A with atomic number thirteen and mass number
27 respectively.

Give definition of ion in your own words.
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(i) Mention the formula of sodium nitride. 3
(ii) Calculate the formula unit mass of CaCO;.

(Given, Ca=40 u, C=12 u and O=16 u)
(iii) Calculate the mass of 10 moles of carbondioxide.

Identify the plant bodies, which are commonly named as ‘cryptogamae’. State and 3
explain two characteristics , which are exhibited by each category of these plant bodies.

(i) Even if a loud explosion were to take place at any place on the moon, it would 3
not be heard at a near by point. Give reason.

(i) Explain in brief the dependence of speed of sound on nature of material medium
and temperature.

(iii) Identify the two factors on which the loudness of sound depends.

(i) How the bats make use of ultrasonic waves to catch their prey ? Explain ? 3
(ii) A radar signal is reflected by an aeroplane and is received 2 X102 s after it was
sent. If the speed of these waves is 3x 108 ms~1, how far is the aeroplane ?

(i)  Define the term potential energy. Write the S.I. unit of potential energy. 3
(i) A body of mass 50 kg is situated at a height of 10 m. What is its potential energy
(Given, g = 10ms™)

(i)  Give definition of ‘health” ? 3
(ii) State and explain in brief the four major factors, which are the causes of disease.

(i)  Match the following columns with correct answer : 3

Organism/Bacteria Disease

a Leishmania worm

b Staphylococci Kala - azar

c Trypanosoma Acne

d Ascaris lumbricoides |Steeping sickness

(i) “ High blood pressure can be caused by excessive weight and lack of exercise.”
Justify the statement.

(i)  State in brief the principle of immunisation. 3
(i) Name any two diseases that can be prevented by immunisation.

(i)  How Rutherford proved that positively charged particles are present in the nucleus 5
of an atom ?

(ii) Ilustrate in brief the drawbacks of Rutherford’s atomic model.

(iii) The total number of nucleons in the atoms of calcium and argon is 40 and the
atomic number of calcium and argon are 20 and 18 respectively. Name the pair
of these two elements and also find out the number of neutrons present in the
nucleus of argon atom.

OR

(i) State Bohr’s postulates about the model of an atom. Draw a sketch of Bohr's
model of an atom with three shells.

(i) Mention one use of each of the following :

(i) Isotope of cobalt
(ii) Isotope of iodine
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(i)  Derive an expression for the kinetic energy of an object. Write the S.I unit of
kinetic energy.

(i)  An object of mass 10 kg is moving with a uniform velocity of 5 ms~!. Calculate
the kinetic energy possessed by the object.

OR
(i) Give the S.I. unit of power .
(i) What is the commercial unit of energy ?
(iii) An electric heater is rated 1500 W. How much energy does it use in 10 hours ?

(i)  With the help of a neat labelled diagram, depict the cycling of carbon in nature.
(i) Mention the two ways in which carbon dioxide is fixed in the environment.
OR

(i)  Describe green house effect. How the presence of green house gases would lead
to global warming ? Explain.

(i) Draw a neat labelled diagram of water cycle in nature.
SECTION - B

In order to find out the loss of weight in a liquid, the student has to immerse the
body -
(a) partly (b) completely

1
(c) in salted water only (d) to Zthof its volume

Using a spring balance a given solid is weighed in the air. It is then weighed by
immersing fully in water in each of the three vessels containing water as shown in fig.
The apparent weight of the solid will be

(a) Leastin A (b) Leastin B () Leastin C (d) Equalinall

If the density of the object placed in a liquid is equal to the density of the liquid, the
object will :

(a) float wholly immersed (b) sink
(c) float half immersed (d) float completely above the liquid

When a body is fully or partly immersed in a liquid, it undergoes an apparent loss in its
weight due to :

(a) decrease in its volume

(b) decrease in the density of the body
() upward thrust exerted by the liquid
(d) decrease in its mass
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When a body is immersed in a liquid, the buoyant force acts on the body :
(a) vertically upwards (b) side ways towards the walls of the container

(c) vertically downwards (d) none of the above

When a solid body is fully immersed in a liquid, the volume of the displaced liquid is :
(@) less than the volume of the solid body

(b) depending upon the manner in which the body is being immersed in the liquid
(c) greater than the volume of the solid body

(d) equal to the volume of the solid body

Which kind of wave can be produced on a slinky ?
(a) a transverse wave only

(b) a longitudinal wave only

(c) both, a longitudinal and a transverse wave

(

d) neither a longitudinal wave nor a transverse wave.

Identify the examples of pulse among the following :

(a) shock waves caused by the supersonic plane

(b) sound waves produced by the clapping of hands

(c) Formation of water waves when a stone is dropped into it
(d) All of these

The astronauts on the moon can see each other but cannot hear each other’s voice
because -

(a) there is no atmosphere
(b)  there is no light
() moon is quite far from the earth

(d) temperature variation is large on the moon

Loud noise of crackers is heard during the festival days, but the sound of supernova
explosion in upper space is not heard on the surface of earth because of :

(a) lesser gravity (b) larger distance

(c) the influence of other planets (d) absence of medium

Pick the odd one out.
(a) Cockroach (b) Annelida (c) Arthropoda (d) Compound eyes

A student of class IX, because of his interest in bird watching observed that the wings
of birds are -

(a) modified forelimbs (b) modified hindlimbs
(c) extensions of body wall (d) none of these
5
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The characteristic, which is not found in an earthworm is :
(a) moist skin

(b) setae for locomotion

¢)

(

(d) True coelom with well developed digestive system

chitinous annuli on the body

Agaricus is a common edible, fleshy fungus. It is:

(a) autotrophic (b) omnivorous (c) saprophytic (d) parasitic

Some students wanted to prepare a temporary mount of spirogyra. At which place,
they should search for a fresh specimen ?

(a) In a stream of running fresh water
(b) Ina pond of stagnant dirty water

(¢) In a stream of salty water
(

d) Ina pond of salty water

The gill slits in a bony fish are covered by;

(a) annulus (b) clitellum (c) operculum (d) capsule

-000-
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